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1 37961

Q) What is the name of limit gauge? | 39 foIf¥Ie I &1 917 FT 872

a) Plain ring gauge | @A T e

b) Taper plug gauge | TR @ A

c) Progressive plug gauge | TG W AW

d) Double ended plug gauge | S9d TSS W AW

Right Answer is : C. | You have Marked : D. Wrong Answer

2 37962

Q) Which material is used to clean the slip gauge? | 9 15 B 9T FA P
fore fra wefara o1 Sua fosan wiman 82

a) Wax | Mi¥
b) Kerosene |ﬁ€'cﬂaﬁ

¢) Soluble oil | ger-=ita da
d) Carbon tetra chloride | LR %E'IW?RE@'

Right Answer is : D. | You have Marked : €. Wrong Answer

3 37963

Q) Where is circular taper key used? | TH@R ¢UR &1 HT TART Pl [PUT ITdT 82

a) Light duty transmission | @3¢ Sg¢1 SIRIFIR

b) Bi-directional rotation | %ﬁ@ﬁmﬁm‘—r
¢) Lengthy shaft | &1 Tfd & ATaIHATY
d) Tapered shaft | 3 TIfd STaRg@ T3

Right Answer is : A. | You have Marked : B. Wrong Answer

4 37964

Q) Which nut protects the bolt end thread from damages? | P TS, AT &
AR Y IfSa1 ! THa™ 811 | T=Tar 2

a) Cap nut | Fy-e
b) Castle nut | $Icd A<
¢) Slotted nut | TTf¢S 7T

d) Knurled nut | FRdS 7

Right Answer is : A. | You have Marked : A. Right Answer
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(%2) What is the method of surface hardening? | WY TS H1 ot faftr
?

T
~

5 | 37965 ‘ @

a) Nitriding | ATSCTSfE

b) Pack - carburising | 9% - BIERRIT

c) Flame hardening | T IS AT

d) Induction hardening | EGWFTFIéﬁ‘T

Right Answer is : B. | You have Marked : B. Right Answer

Q) What is lead of multi start thread? | Aec! W< 4T B ot w1872

a) Pitch x No. of starts | g x W &Y I
b) Lead x No. of starts | e x W ot 4@ >,
c) Pitch x major diameter | fira x AR = @
d) Pitch x minor diameter | fora x HIgR AT

6 37966

Right Answer is : A. | You have Marked : A. Right Answer

Q) Which material is to wash off the lapping plate after charging? | fore Tt
I TSl PR & TG AN TeE B YT 82

a) Oil | 9@
7 37967 | b) Kerosene | fedt aa @
c) Coolant oil | Wﬁa

d) Petroleum jelly | 9 iferad Sieft

Right Answer is : B. | You have Marked : B. Right Answer

Q) What is the gauge to check acceptable size on external diameter of a shaft? |

T P d183) ATH UR WIhTd AISH B Siig B3 & g A Si91 82

8 37968

a) Ring gauge - Go | farae-m
b) Plug gauge - Go | T A - T
c) Ring gauge - No Go|ﬁ1TﬁTrl-=ﬁTﬁ
d) Plug gauge - No Go|TFTﬁ\_rT-=ﬁTﬁ

Right Answer is : A. | You have Marked : €. Wrong Answer
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Q) Which is the abrasive used for lapping soft steel and non-ferrous metals? |

o sroede (Tafra) 1 Ul RH 3TTE 3R 3 urgsh & AfthT & g
o Sirar 82

a) Silicon carbide | ﬁlﬁlﬁﬁﬁﬁ%’
9 37969 b) Diamond |@Tl ®

c) Boron carbide |Tsﬁ?17-r3?ﬁﬁ§3'
d) Fused alumina | TRISS TegdiAT

Right Answer is : D. | You have Marked : A. Wrong Answer

Q) W%:( the tempering process carried out in steel? | wha | Sufvar ufsear i ot
STl 8?2

a) To add cutting ability | Pled Bt &I’H?lT\‘rﬁGﬁ a?ﬁ'l'l;f

b) To relive strain and stress | QH 3R @FT Eal v Eaekg ferg
10 37970 ) To refine the grain structure | PEREE K| H‘F{'W P & g ®
g%)_qregulate the hardness and toughness | PSRl 3R B Eﬁi’ﬂﬁ? Cae

Right Answer is : D. | You have Marked : A. Wrong Answer

Q) Which type of bearing is designed to take axial thrust as well as radial loads?

%mwmﬁwﬁﬂ, 3efT YT & JIY-A1Y AT YR IS & fore a=mar wan
?

a) Ball bearing |ﬁﬁﬁ'ﬂﬁ11
1 37971 b) Roller bearing | &R daf&r ®

c) Taper roller bearing | TR JAeR ST
d) Angular contact ball bearing | T[eR Prede aid faafar

Right Answer is : D. | You have Marked : B. Wrong Answer

Q) Which type of bearing metal is self lubricated? | fra yor & faafer I |

WY A AP g1 97

a) White metal | T3¢ Acd
12 | 37972 | b) Sintered alloy | RS 3ramg ©

<) Aluminium alloy | Tegfif~aw fy erg
d) Cadmium based alloy | $Saw 9vs iy erg

Right Answer is : B. | You have Marked : B. Right Answer

Q) Which bearing material is used for light loading and low speed application?

| STge AFET R HH 7 F vwiierzE F forw w19 W fyafar arsh &1 s
forar wiTar 82

a) Cast iron | PIRC TR
13 37973 b) Tin bronze | s @
¢) Cadmium based alloy | ¥sfran anenfya firy arg
d) Copper and lead alloys | PR 3R ofts fay LI |

Right Answer is : A. | You have Marked : A. Right Answer
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Q) What is the name of washer? | IR BT ATH T %"

L3

14 | 37974 ®

a) Internal type washer | 3TAR® UHR R
b) External type washer | e PR IR

c) Internal and external washer | 3fiaie aﬁ?aﬂs'ﬁafszn
d) Counter sunk washer | PT3cY P dIRR

Right Answer is : C. | You have Marked : A. Wrong Answer

Q) What is the name of part marked X? | X %Wﬁﬁﬁ%ﬂ YT BT ATH HT %’

15 | 37975

a) Ball case | STd &

b) Inner race |37-R'w

c) Outer race | 33X EL)

d) Ball separating gauge | i AWRET A

Right Answer is : D. | You have Marked : €. Wrong Answer

Q) Which bearing material has poor thermal conductivity? | fra faafer &5t
ST araddna Frsfacad]) o gt 32

a) Nylon | BILGIE
16 | 37976 | b) Teflon | THaH ®
c) Sintered alloys | RS erama

d) Laminated phenolics | @f¥AeE Ifereq

Right Answer is : D. | You have Marked : €. Wrong Answer

Q) What is the name of the plumber tool to assemble or dismantle pipes of 50
mm to 150 mm diameter? | 50 ffrFft & 150 fored} =T & UTgU Ht sHYT AT faEfea
P & T WaR gd BT AT 7 82

a) Strap wrench | %q &= >,
b) Chain pipe wrench | 9 urgy Y= @
c) Still son pipe wrench | fRea g sy =

d) Foot point pipe wrench | B¢ Wgc UIsy f&a

17 | 37977

Right Answer is : B. | You have Marked : B. Right Answer
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Q) What is the name of part marked as X? | X ¥ ¥u # fafga urT &1 a9 g

18 | 37978

a) Cutter wheel | S I

b) Adjusting screw | GIGI'F\%‘TW
¢) Guide rollers | TTgS &

d) Hand lever | %vgaﬂav

Right Answer is : A. | You have Marked : B. Wrong Answer

Q) What is the angle of deviations provided on elbows and bends in pipe

works? | UTSU & PTaT A Teal 3R §8 W A==t &1 H1vr fara=n giar 82

a) 90° and 45° | 90° 3fi¥ 45°
19 | 37979 | b) 30° and 60° | 30° 3{i¥ 60° ©
¢) 20° and 40° | 20° 37 40°
d) 60° and 45° | 60° 3fIX 45°

Right Answer is : A. | You have Marked : A. Right Answer

Q) What is the radius size for long radius elbow? | AT ST veat & forg Brsan
g 182

a) Equal the bore the pipe | ahurgua? RIS
20 37980 | b) 12 times bore of the pipe | U S IR P 1% TR ®
c) 3 time bore of the pipe | URU S IR & 3 dR

d) 2 times bore of the pipe | UTSU FIRF 2R

Right Answer is : B. | You have Marked : A. Wrong Answer

Q) What is the name of jig? | 9 T &1 AW T 87

21 | 37981 ®
a) Box jig | ST fomT

b) Post jig | T¥e forT

c) Turn over jig | o aftar o
d) Sandwich jig | Ssfa= forT

Right Answer is : C. | You have Marked : D. Wrong Answer
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Q) What is the purpose of setting blocks used in the fixture? | fireear ® SUaT
foru M are AT =T BT ITT T E?

a) Position the balancing weight | Tga aoi- &1 AT

b) Position the clamp and locators | FAT 3R Wb I R
22 37982 c) Position the fixture on machine table | = Bt A9 W fRyar ot fRufa ®
d) Position the fixture and work related to cutter | #cX A Tefid fRREr 3R
Py o1 RAfa

Right Answer is : D. | You have Marked : A. Wrong Answer

Q) What is the colour of the aluminium metal? | TeIHIFRIH UTg BT 37T T 72

a) Yellow | e

b) Reddish | @ |1
23 | 37983 | ) whitish grey | atsiomr ’
d) Silvery white | Riea¥l arge

Right Answer is : C. | You have Marked : D. Wrong Answer

Q) What is the name of part marked X in the belt drive? | aﬁ'wﬁ X& =Y
| faffa v T aIm TR 2

24 | 37984

DAWEN
a) Step pulley | ¥ geait

b) Driver pulley | $TgdX W
c) Driven pulley |

d) Jockey pulley | ﬁﬁgﬁﬂ

Right Answer is : D. | You have Marked : B. Wrong Answer

Q) Which ore is extraction of aluminium? | DI AT SRP qapfrﬁwar
fArepeur 32

a) Pyrites | UTgRIgC
25 | 37985 | b) Galena | o ®
c) Blends | =S

d) Bauxite | STRITSE

Right Answer is : D . | You have Marked : D. Wrong Answer

Q) Which ore produces lead metal? | f5a s Q A YTg U ﬁ?ﬁ %"

a) Pyrites | W
b) Bauxite | dTRATSC
26 37986 c) Malchite | ®

d) Galena | AT

Right Answer is : D . | You have Marked : D. Wrong Answer
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Q) Which is the imaginary circle on two matting gears? | 3 AfdT firR w
PP b DI AT §?

a) Root circle | ¥¢ THd
27 | 37987 | b) Pitch circle | i a&a ®
c) Base circle | I

d) Addendum circle | 3SSH TH

Right Answer is : B. | You have Marked : C. Wrong Answer

Q) Which energy is converted in hydraulic pump? | E@W g ¥ for Sett @t
ufvafda faar smar 82

a) Thermal energy to hydraulic energy | Y Selt &t Fﬁ@ﬁﬂ? ot d
28 37988 | b) Electrical energy to hydraulic energy | ﬁa‘g?r St B F@ﬁﬁﬁ Sot A ©
c) Pneumatic energy to hydraulic energy | AREIT St B F@W ot |
d) Mechanical energy to hydraulic energy | TifA® et & 'e!TE',@ﬁ‘IH? ot o

Right Answer is : D. | You have Marked : D. Right Answer

Q) What is the name of the part marked as X in one way flow control valve? |

T aRE 4 vare fu=vr areg # X & +u A fafgd vmr &1 e | @2

29 | 37989

a) Throttling screw | ?ﬁEﬁ'i"T??f

b) Notch |=ﬁT'-l

¢) Opening of spring ball | &7 afa @t ufT
d) Valve set | dled e

Right Answer is : A. | You have Marked : D. Wrong Answer

Q) What is the unit of pressure in Sl unit? | SI sa?réﬁﬂm aﬁm‘éw%v

a) Kilogram | frarm
b) Pascal | ¥ dl
30 37990 c) Pound |Tﬁ3' @

d) Meter | ez

Right Answer is : B. | You have Marked : B. Right Answer

Q) Which law states that the pressure exerted on a liquid is transmitted equally
in all the directions? | f&a foraw & wer a1 @ f5 ter ava wR 19 T4T garg T
fermaif # wwm v & g g 82

a) Boyles Law | 919 &1 fqe ®
b) Pascals Law | U@ &1 a9

¢) Hooks Law | §% &1 fraw

d) Archimedes Principle | Sfhfrdts Rigia

31 | 37991

Right Answer is : B. | You have Marked : A. Wrong Answer
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Q) Which valve is an orifice or restrictor in hydraulic system? | G@ﬁﬁ? Rrea
H S AT aTed AR a1 AP 32

a) Flow control valve | Tl ?HU@?I' dTed
32 | 37992 | b) Check valve | 9% dTed ®
c) Direction control valve | SRR EFU?I?[ dled

d) Pressure valve | TR dTed

Right Answer is : A. | You have Marked : B. Wrong Answer

Q) What is the name of symbol marked as X? | X ¥ ¥u ¥ fufga udie &1 w3

O

/N
33 | 37993 %/ ®

a) Daily | 3i<T

b) Weekly | ATaTie®

¢) Monthly | 9g1H

d) Scheduled for frequency other than above | &Iﬁﬁ-[ * fere Fuffea

Right Answer is : D. | You have Marked : B. Wrong Answer

Q) What is the ratio of soluble oil added to water to get non corrosive effect? |

TR-H&RS UG UTed H1 F fore urit & gaq=ita aa &7 SguTd o1 gial 82

a) 1:05
34 37994 | b) 1:10 ®
c) 1:15
d) 1:20

Right Answer is : D . | You have Marked : A. Wrong Answer

Q) Which property states that the temperature of the lubricant is able to flow
freely while poured? | @I 31 I[UT T8 FATdT 8 f TIgP BT AU STed THYA
WdF U Y YaT8 B H WaH 72

a) Oiliness | GRICGI
35 37995 b) Fire point | &rﬁrﬁg ®
c) Pour point | tﬁ'\”ﬂﬁ?

d) Flash point | /¥ Wge

Right Answer is : C. | You have Marked : A. Wrong Answer

Q) What is the main advantage of toothed chain drive? | aﬁmﬁqsﬁam
BT ATH T 82

a) Increase the tension chain drive | CREE SIgd BT dedl

b) Provide noiseless and uniform drive | =Iid 3R qﬁmﬁw U™ B >,
c) Efficient between shafts in short distance | ¢H §'\ﬂ' # 3ue & di4 sfhere @
%Provide high speed low torque transmission | 3= Tfa $U b HTURUT Y=

36 | 37996

Right Answer is : B. | You have Marked : B. Right Answer
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Q) Which crane is used in remote place and offsite? | g &I 3R STpTSe
¥ fore fora =1 o1 ST fosa wiTa &2

a) Gantry crane | ﬁ@ |
37 | 37997 | b) Pillar jib crane | fUeR 19 % ®
c) Travelling wall crane | aﬁmﬁﬁaﬁ

d) Truck mounted crane | §Tﬁ ATSeS B

Right Answer is : D. | You have Marked : B. Wrong Answer

Q) What is the purpose of hydraulic floor cranes? | 31%@1%@ & BT G%'-‘m Cll
i

a) To lift the loads | 4R 38 & for@
b) To shift the loads | HR & RIMIdR® H31 & g

38 37998 c) Used on lever to lift or lead heavy loads | YR UR IoTH a1 JATad B & ®
feg
d) To raise and lower the load | s &) Hﬁ'ﬁ IMMPAPA P ﬁ’l‘E
Right Answer is : C. | You have Marked : B. Wrong Answer
Q) What is the name of crane? | 1 BT ATH T %?
39 | 37999 ®

a) Gantry crane | ﬁﬂ |

b) Pillar jib crane | fUeR fora %=1

c) Travelling wall crane | ﬁmafaa)——r
d) Truck mounted crane | ¢F ATSeS B

Right Answer is : D . | You have Marked : D. Wrong Answer

Q) Why foundation bolts are essential to machines? | =i & fore wrsswE
Fiee 1 TIRAD 72

a) Observe vibration | U A& #37 & forw
40 | 38000 | b) Hold machine firmly | Wi+ &I AoIgdl I UFHs ©
c) Improve the production | TG | JUR

d) Avoid shifting of machine | W= &1 RIftRéT I 721 ¥ forw

Right Answer is : B. | You have Marked : B. Right Answer

Q) Which is the main purpose of using the lubricant oil in engine moving parts?

| STt 1 Terel I © [ed 9d BT SUANT I BT YT S/ 8?

a) To increase the efficiency | &l gM & forg
41 38001 | b) To reduce friction | Tu B HH B & forg ®
c) To improve carrying capacity | 98- &HdT | gUrR AP
d) To improve the durability | TITRIE & JUR I &

Right Answer is : B. | You have Marked : A. Wrong Answer

10 of 14 03-Oct-21, 2:54 PM
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38002

Q) Which depends on the frictional force? | Tyur 96 IR i I1 R HRar 82

a) Type of metals | ﬂﬁ@f%m

b) Contact surfaces | JUs gy

c) Quantity of the contacting metals | ¥ 9P 'r‘-l'l'g'éﬁ CAk:IE|
d) Quality of metals | ﬂﬁﬁﬂ"ﬁw

Right Answer is : B. | You have Marked : D. Wrong Answer

https://nimionlineadmission.in/aitt/viewanswers.php

43

38003

Q) What causes the efficiency of a machine by maintaining the lubrication? |

AT P TE I@A & gRT T AN BT G&fdT BT HRUT g1 82

a) Increases | Ea'cﬁ%
b) Decreases | PH s‘r STt %

¢) Remains same | T& B gl 7
d) Does not affect | FHTFId -T8Y HeaT 8

Right Answer is : A. | You have Marked : B. Wrong Answer

44

38004

Q) What is weight of an object could be moved by a force of 30 Kg if co-
efficient of friction is 0.0125? | Tfe THUT JUTi® 0.0125 § A fH=lt avg T YR 30
Kg & I gIRT RITTdRG fHar o1 [T 82

a) 80 Kg

b) 2430 Kg
c) 72000 Kg
d) 2400 Kg

Right Answer is : D. | You have Marked : A. Wrong Answer

45

38005

Q) What is the centre of gravity of a rectangular body? | ITIdIPIR fis® T>d
BT HE T §?

a) Longer side of rectangle | 3ITId & dd UG qP U
b) Shorter side of rectangle | 3T & B T4
¢) At the point of intersection of its diagonals | 3% @ Ul & dRTe & fig W

d) At the corners | CARIK|

Right Answer is : C. | You have Marked : C. Right Answer

46

38006

Q) What is the name called biggest chord of the circle? | dsh T:FTWE??THW
B T BT ATl 82

a) Arc | 3

b) Diameter | T
c) Radius Rr%mr
d) Diagonal | fawut

Right Answer is : B. | You have Marked : A. Wrong Answer
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Q) What is the diameter of the circle, if the area of the circle is 78.5cm?? | afe
g BT &TEA 78.5cm? B, A Id BT ATH FIT 82

a)5cm

47 | 38007 | b) 10 cm ®

c)15cm
d) 5.5 cm

Right Answer is : B. | You have Marked : D. Wrong Answer

Q) What is the multiplication value of 5a’b x 8a°b*? | 5a’b x 8a’b*®T U HTT
T 3?

a) 40a’b*
48 38008 | b) 40a°b* ]
c) 40a*b’
d) 40a%b?

Right Answer is : A. | You have Marked : A. Right Answer

Q) What is the value of any number raised to the power of 0? | 0 ﬁ‘aﬁﬁm
Y fadt off Ten &1 ger 7 82

a)o0
49 38009 | b) 1 ®
c) -1
d)

Right Answer is : B. | You have Marked : A. Wrong Answer

Q) Which is expanded form of a*- b®? | a*- b* &1 HIF &1 &2

a) (a+b) (a® - b? - ab)
b) (a-b) (a* + b? + ab) ®
c) (a-b) (a% - b? - ab)

d) (a-b) (a® - b? + ab)

50 | 38010

Right Answer is : B. | You have Marked : D. Wrong Answer

Q) Which is thermo plastic material? | 379 & H1H-IT YW} wife® ArTft 82

a) Butyl rubber | TS TR
b) Nylon | ATl
c) Neoprene |

d) Vinyl polymers | fa-ga ufd R

51 | 38011

Right Answer is : D. | You have Marked : D. Right Answer

Q) Which force acts on crank shaft? | PIF-TT T $Hh I R BT BT 82

a) Shear stress | 2R ufdaa
b) Torsional stress | SId Ufdaa

c) Tensile stress | saawuﬁaa ®
d) Compressive stress | '\‘I’Fﬁ?ﬁuﬁlﬁﬁ

52 | 38012

Right Answer is : B. | You have Marked : D. Wrong Answer
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Q) What is colour of a metal piece when heated to 250°C while doing the

tempering process? | %wﬁnmaﬂ?rww m%gﬁaﬁ 250°C U T
foran SITaT 8, O 39 UTg F THS BT W FTFRM?

a) Blue |=ﬂ?IT
b) Brown | YT
) Purple | S

d) Pale | e

53 | 38013

Right Answer is : B. | You have Marked : C. Wrong Answer

Q) What is the process of heat treatment? | SHT SUIR &1 ufspar «an %7

a) The process of heating and cooling to change the structure and properties |

TEAT 3R 7O B Iga & forg i ok wfer #t uftea
b) The process of heating to change the dimensions | STl Y geaq & g

e oY ufesan
" ¥

54 38014 c) The process of cooling to measure the dimensions | ST Y AT a?ﬁ'l'({ @

pfeiT & ufsear

d) The process of heating and bending as per our requirement | FURT

TIHATSN & ITHR FIHET 3R FPA @t ufspar

Right Answer is : A. | You have Marked : A. Right Answer

Q) What is the expanded form of S.P? | T4t (S.P) BT ﬁﬁ'ﬂ Y FT3?

a) Selected Price | Taf<d g4
b) Special Price | ﬁaﬁwqm ©
c) Selling Price | ﬁwqm

d) Super Price | JUR Y

55 | 38015

Right Answer is : C. | You have Marked : C. Right Answer

Q) What is denoted as 1? | 3T$ (1) e A fia oear 82

a) Principal | fifrae
b) Interest | §
c) Rate ﬁ?

2 Year | ¢ Global ITi YouTube

Right Answer is : B. | You have Marked : B. Right Answer

56 | 38016

Q) What is the interest earned, if the principal is Rs.12000/- becomes to an
amount of Rs.15600/-? | ATYRUT TSl T T, TfS Rs.12000/- P AT,
Rs.15600/- & STeit 82

a) Rs.2,600 @
b) Rs.3,600

c) Rs.4,600
d) Rs.5,600

57 | 38017

Right Answer is : B. | You have Marked : B. Right Answer
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Q) Which authority publishes schedule of rates? | PIF-T UG 3 &
ST BT YBTIRIT T 82

a) Individual |m’%ﬂ'ﬁ
58 38018 | b) Corporate | f7TH & Tafia (@1URe) ©
<) Partnership firm | UT&-RIRMT &

d) Government department | PRI fqumT

Right Answer is : D. | You have Marked : D. Right Answer

Q) Which of the impurity in cast iron makes it hard and brittle? | P ARH
PI- YT 58 PSR 3R WR T1T 27

a) Silicon | fafer i
59 | 38019 | b) Sulphur | GeH ®

c) Manganese |

d) Phosphorus | BB R™

Right Answer is : B. | You have Marked : C. Wrong Answer

Q) What is the name of a booklet, the rates of various terms are indicated? |

GRRI®T &1 9 1 8, o fafie= o &1 doba e wiran @2

a) Price bank | qm%
60 38020 | b) Price bunch | T =T ©

c) Price tag | I gd-TH
d) Price catalogue | Wﬁ?ﬂ

Right Answer is : D. | You have Marked : D. Right Answer
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